MATH 2250 Calculus Name: g Jd
Eric Perkerson Date: November 15, 2016

Quiz No. 5

Show all of your work, label your answers clearly, and do not use a calculator.

Problem 1 (25 points) State both parts of the Fundamental Theorem of Calculus.
a Partl:
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Problem 2 (25 points) Find the value of the definite integral
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using the DEFINITION of the definite integral. You might need some of the following
formulas:
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Problem 3 (25 points) Find the following definite integrals using the Fundamental
Theorem of Calculus, part IL

a fnl 1012300 4+ 2w

= [)(!01 + /Lxl

= 3

{
0
b foﬁz cos{z}dz

) [S?nfx\]jh- -0 = |
c [l1/z+evdz

’ [‘Gllm)% ﬁy]f: [103[33 "53]' [faj(t! - @7]

e {0 (35*63'6
d f;H_—lmgda: j

-~

-

{ A 4 y
= +an (}‘\16 ke 4"CM\ ([‘ - ‘l’&n (6\

T _ T
y - O =T

e f_21 3 ++ Bz

(e el s 32 ew] (3 ]

11
o~
-+
>
¢
Al
+
(/‘«

< <3
1] >
L Y
17 ~ 2
RS



Problem 4 (10 points) Draw a sketch of the graph of each function f(x) over the given
interval.

a f(z)=2x+1on3,5
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Problem 5 (15 points) Find the value of the definite integrals below using AREA
FORMULAS of bas1c shapes.
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